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l) Let 1(x) be a solution of the differential equation ¥"+Ay=0.Here A is an unknown constant.
The solution J(X) satisfies the boundary conditions y'(0)= ¥'(m)=0. Please find out Mx).

(30 points)

2) Let 3(x) be a solution of the differential equation xzy”+X=0.
4

It satisfies the conditions

Y(1)=0 and y'(1)=3. Please find out ez?). (30 points)

3) Let }(f) be a solution of the differential equation [@°°s¥ ~(t)(sin y)]ﬂ =].
dt

initial condition (0)=0. Please find out y(¢). ( (¢ ) could be an implicit solution.)

It satisfies the

(20 points)
@ Let %(#) be a solution of the differential equation 2uu"+2u')2 +u?=9. 1t satisfies the

initial conditions #(0)='(0)=0. Please find out #(T). (20 points)




